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1. Mike is 35 years of age and his salary next year will be $75,000. Mike forecasts that his salarS' will increase at a steady rate
at 5% per annum unti! bis retirement at 55. (A8 & 15 %)
(1) If the discount rate is 7 %, what is the PV of these future salary payments?
(2) If Mike saves 5% of his salary each year and invests these savings at the interest rate of 5%, how much will he have
saved by age 557

(3) If Mike plans to spend these savings in even amount over the subsequent 20 years, how much can he spend each year?
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4. A project has the following forecasted cash flows:

Cash Flows,$ Thousands
Co C Cz Cs
-100 +40 +60 +50

The estimated project beta is 1.5. The market return rp, is 16%, and the risk-free rate rris 7%.(F& £ 15 %)
(1) Estimated the opportunity cost of capital and the project’s PV (using the same rate to discount each cash flow).
(2) What are the certainty-equivalent cash flows in each year?

(3) What is the ratio of the certainty-equivalent cash flow to the expected cash flow in each year?

5. Consider a three-factor APT model. The factors and associated risk premiums are:

Factor Risk Premium
Change in GNP - 6.5%
Change in energy prices -1.5%
Change in long-term interest rates +3.2%

A stock with average exposure of b=1.5 to changes in GNP and long-term interest rates, but negative exposure of b= -2.5
to the energy factor. With the risk-free interest rate is 4%, please calculate expected rate of return on the stock. (AR#
#55)
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